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1. (15 points) Find the limit. If the limit does not exist because it is infinite, indicate
positive or negative infinity.
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2. (15 points) Find the limit. If the limit does not exist, because it is infinite, indicate
positive or negative infinity.
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3. (10 points) Find the equation of the tangent line to the graph of g at the point (2, g(2)).
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You may leave your answer in point-slope form.
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4. (10 points) An obJect moves along a line so that its position at time ¢ (seconds) is given
by s(t) = 3t* + ¢ (meters).
(a) Find the velocity and acceleration of the object at time .
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(b) Find the position of the object when the velocity is 13 m/s.
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5. (15 points) Find the derivatives (by any method). You do not need to simplify your
answer.
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6. (20 points) Function f(z) is defined below.

z2+1, ifz<0

f(z) = %—35 if0<z<?2

0, if2<zx
a) Find, with explanation, all real numbers a, such that f(x) is not continuous at a.
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b) For each such a, find lim f(z) or explain why it does not exist.
T—a

o fvg = o X1

0T ero” =) i £0) = |
D

iT"\- 4(;()34;};\,% gﬁ:;, <>

X O‘+ PN Q"%w /)(

?\\\x ’C(.Kv 1"7ﬁ /CM
\e 2 D0 F




7. (15 points) Find the derivative of the function

f#) = o

using the limit definition of the derivative.
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1. (15 points) Find the limit. If the limit does not exist, because it is infinite, indicate
positive or negative infinity.
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2. (15 points) Find the limit. If the limit does not exist because it is infinite, indicate
positive or negative infinity.
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3. (10 points) An object moves along a line so that its position at time ¢ (seconds) is given

by s(t) = 5t* — 3t (meters).
(a) Find the velocity and acceleration of the object at time #
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(b) Find the position of the object when the velocity is 27 m/s
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(10 points) Find the equation of the tangent line to the graph of h at the point (1, A(1))

h(z) = z* - /3z + 1
‘7{1, = px +b

You may leave your answer in point-slope form
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5. (20 points) Function f(z) is defined below.

241, if2<0
f(z) = S‘zx, if0 <z <2

0, if2<z

a) Find, with explanation, all real numbers a, such that f(x) is not continuous at a.

X0 =1l é‘/ﬂ\fg Corct, @& Xz3
| *"{:’ C5 e N R e

X9 )= i;;%g% x 7 \ g‘\’\u” bim £09 #’ fxfwic‘ég)

= . ~ =39 Jey

lrewe IS T 2% = g%w

X7 ey

L‘"““"" %ff&) = Jom S -

XY P <
b) For each such a, find ililtll f(z) or explain why it does not exist.
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6. (15 points) Flnd the derivatives (by any method). You do not need to simplify your
answer.
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7. (15 points) Find the derivative of the function

fle) = 3x1+ 2
using the limit definition of the derivative.
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